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SST Solve-A-Problem — Junior

How many minutes in an hour??

How many minutes in half an hour ??

SST Solve-A-Problem — Al

A small zoo has enough fencing to surround five animals but not
enough to separate them. However by digging three straight
trenches,(drawing three straight lines on the diagram below) the
animals can be separated from each other. The animals cannot
move from their places below. Where could the trenches (lines) be
placed ???
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SST SOLVE A PROBLEM -CHALLENGE

Just A Symbol

What maths symbol can be placed between two and three
to make a number greater than two but less than three ???



